SE

SPRAYING DEVICES INC.

®ORE VO G

SDI Sprayer, Model
No. PCO30

PI235/0602jj

Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278, (559) SDI-5555/Fax: (559) SDI-5591



Item

Part

‘Number " Number | Description Qty
1 15-030WH |Tank, 30 Gallon, White |
2 15-046 8" Lid Assembly 1
3 11-348 Hose Reel Bracket 1
4 -81-036 Locking Hasp 1
5 50-461 Bushing 1/2 x 3/8" Brass 1
6 - 81-803 Air Gap Filler 1

7 125-4-2008S/0 |Manuel Rewind Hose Reel 1
g 82-375 3/8" ID Hose, 300 PSI 300
9 24-203 Hose Clamp #JS203 2
10 55-112 Hose Coupling, Male 3/8" HB 1
11 55-111 Hose Coupling, Female 3/8" HB 1
12 55-1065 Adapter 3/4" MGHT x 1/2" MPT 1
13 59-100-16 |Swivel Joint 1/2" 1
‘14 27-100 Pressure Gauge 0-100 PSI 1
15 50-460SS |Bushing 1/2 x 1/4" SST 1
16 50-411SS |[Elbow 1/2" SST 1
17 51-401SS  [Close Nipple 1/2" SST 2
18 50-420SS  |Tee 1/2" SST ’ |
19 53-094 Adapter 1/2" MPT x 1/2" HB 3
20 24-106 Hose Clamp #6 ' 12
21 - 64-807 Relief Valve 3/8" 150 PSI 1
22 53-817 Bushing 3/4" x 12" Poly 2
23 52-106 Elbow Adapter 3/8" MPT x 1/2' HB 1
24 50-440B  |Cross 1/2", Brass 1
25 47-102 U-Bolt 1/4 x 1 x 1-1/4" - 1
26 83-500C  |1/2" ID Hose, 200 PSI, Per Foot Specify
27 52-108  |Elbow Adapter 1/2" FPT x 1/2" HB 4
28 ©20-090 Pump W/Electric Motor 2
29 52-111 Elbow Adatper 1/2" MPT x 1/2" HB 2
30 53-819 Tee 1/2" Poly ; 1
31 55-090 {Adapter 1/2" MPT x 1/2" HB 1
32 52-109 Street Elbow 1/2" Poly 1
33 53-901 |Close Nipple 1/2" Poly 5
34 - 60-324 Ball Valve 3/4" o 1
35 - 51-520SS | Pipe Nipple 3/4" x 2", SST 1
36 53-885 Pipe Plug 3/4", Poly 1
37 50-520SS  |Tee 3/4", SST 1
38 53-134 Adapter 3/4" MPT x 3/4" HB 1
39 - 47-104 U-Bolt 1/4" x 1-1/4" x 1-3/4" 1
40 - 24-112 Hose Clamp #12 2

Spraying Devices, Inc., P. 0. Box 3107, Visalia, CA. 93278 (559) SDI-5355 Fares (559) SDI-5591

10/31/03




~ Item Part
Number Number Description ~ Qty
41 57-080  |Strainer Assembly 1/2" 1
42 72-120 Switch 1
43 10-030.  |Frame, 30 Gallon PC r
44 83-750C  |3/4" ID Hose, 150 PSI, Per Foot SSpecify
45 52-113  |Elbow Adaptter 3/4" MPT x 1/2" HB 1
46 16-115 Tank Fitting 3/4" DT, Nylon 2
47 52-112 Elbow Adapter 3/4" MPT x 3/4" HB 1
48 52-270 Elbow 172" PVC 2
49 64-581 Spraying Tip, DCER 10 2
- 50 16-050 Agitator Tip, Venturi 2
51 53-823 Tee 172" PVC. 1
52 16-922 Clear Tubing 3/8" ID, Per Inch Specify
53 24-104 Hose Clamp #4 ‘ 2
54 16-100 Elbow Adapter 3/4" MPT x 3/8" HB 2
55 55-050  -|Rubber Washer 3/4" 4
56 55-052 Nylon Washer 3/4" 2
The following items are not illustrated.:
70-030 Sight Gauge Decal 1
70-301 Caution Decal

- Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278 (559) SDI-5555/Fax: (559) SDI-5591

6/17/02



